@,Beinlich

EVERRAIN. EVERGREEN.

Packlist 20W solarpanel + mounting

1. Bracket left and right 3
2. Solarpanel 20 W incl. cable AT
3. Screw package

3.1. 4xlock nut M6

3.2. 8x washer 6,4x12x1,6
3.3. 4xbolt M6x16

3.4. A4xscrew M5,5x13

3.5. 4xsheet metal nuts M5,5
3.6. 1xclamp 8x15

3.7. 1xcable tie 150mm

Assembly instructions

1. fasten bracket with SK screws M6x16
2. lock in the switch cabinet with SK lock nuts M6
3. use washers 6.4x12x1.6 on both sides

4. secure the cable at the rear with a clamp and cable tie

5. fasten the solar panel with M5.5 sheet metal nuts and

self-tapping screws M5.5x13



